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Fart 1{60 marks}

For each guesting feom | to 30, four opbons are given. One of them 15 the correct answer.
Make voor chojze (1,2, 3 ¢4, Shade the correct oval {1, 2, 2 or 4} on the O

ptical
Ansvier Sha

1. Dardel wanted 10 #ind out 1f carbon diexide is present in the Hl lowing
experiznental ¢ot-up. He placed the thres set-ups, N, YV and 2 7n a suony niace.
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Tmewseter
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In which ofthe follawing set-ups will the imewaier most likely torn milky or
chatky?

1 Nand Y only 0} and Z only
XY and 2 43 None of the above

2 Stady the te shown below carefuil
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The aninais have heer classified according o
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{3} theway thoy breathe
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3. Nick decided to conduct some test to find out what materials the ebjects P and

are most likely to be made of. This table below shows the resuits of his test.

P S S
Waterproof Yes ! Yeas
Good conductor of heat b Yes ]' __No
| Breaks easily wheu dropped Ne s

Which of the following correctly shows what materials P and ¢ ave mos:

Aldry

itkely to be made of? )

el Plastic ‘ ’ Waod '
(3 Caopper _ Rubber |

{
2
G Glass  Ceramic :
4, Karen wanted to find out what would happen to the water leval in the mther
hose when more water 1s being poured mte it as shown below?
maote water is being poured
L~ into opeping of the rubber
7 hoge

What do you think Karen would observe?

Only the water level at X witl rise,

Only the water level at Y wiil nse,

The water levelz 00 X and Y wiil ise enuaily

(4% The water fzvel at X will 552 end the water fgvel at Y will 21
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A plece of wax wias her ted slowly at toom temperature in an & vaporating g y\h Iis
teinperatirs Was recor rded ot regular intervals and plotted in the orap _h as shawn,
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Which of the following statements correctly describes the ternperature marked P9

© P nperaiure.
(2, Pisik iy >’\~nf of the wax
(3, Pwihe srefuce taken for thc wax 10 charige ﬁﬁm gASe0US ;tate i
hgu
‘a, P share taken for all the wax to change fromm solid state to
¥
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The Aiagram bewow shows a glass of water and 2 glass ofice fhat have
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To investigate the effect of wind speed on the rate ot evaporation of water; four
experiments under different conditions were carried out. Yhe containers used tov
holding the water were made of the same material.

Experiment | Exposed area { Amountof i Temperatuve | Vind speed |
of container | water used ! of o (kovhy
2 ’ BN K ey H
{cnr’) e { suvvounding{*{Y) | ;_
A 40 50 f a0 il
B S0 50 el i 5 \.
C S0 50 50 1 g
} D S0 50 | 28 18
Which pair of expeniments can be used tor comparson?
() AandB )y Aand D
(3) BandC 4) CandD
R, Four similar candles were Lt and leftin sealed containers as shown below. Which
one of the candles will go out {irst?
(1 () ) (&
- : ar-hale
a.u‘*--h«]}!.es : i
y / L |
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Thed

-am below shows 3 puiley arrangerments, In each arran

w applied to 12 the same joad. The effort ;s smaller than the
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11, Study the diagrams beiow carefully.

A full moon would probably bie next observed in he skv or
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New Moon Full Maoon (
Date: 15 April 2003 Date: 2 5
)

(1 22 April (2 49 Apdl
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Which of the following statements are comect?

5
-

- ’ |
.{i S F ‘1 sunlight & - ‘)
S N

Earth e

A person at P will experience sunrise carfier than 2 person ai Q).
A person at ¢ will expenience sunrise earlisr than a pers

A person at P will see the Sun at the same posiion in the sky ¢

hours.
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L

. - 2 [ - ' ~ EN
erson at Pwill see the Sun at the same nasition intne sky alter 24
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3 Look at @ diageam bolow.

Which part of t‘v: piant celf acts gives 1t a regular shape?

W
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G

Look at the diagram: befow.
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3% Sperm egg feriilizatinn
AL spermo pollen graiz, | binary fission, |
i5. Study the {famuy free of shown below carefully.
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17.

Penelope classified some objects into 4 different groups as snown baiow.

However, she classified 2 of the objects wrongly, Identfy the 2 ohjec

(1)
(2)

(3>

4

e

Group A

Group B

Groun O
L -~

Iron natl

Blanket

Dronxing glass

aroup L i
M %—
;. Wire wnsulator

Magnet

~Wind O

Padlock

Rubber boots

Mireor

:

{

_ Schooi Tie |
Qweater |

Fraser and school tie
Magnet and window
Blanket and wire insulator

Iron pail and drinkang

glass

P2

Which of the following classification schernes 13 incorrect?

M
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The tnvestigation shown below is cartied ontin a dack rocm.

o)
— Q.
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Brizht
.. GNP . H
ST eireulazilight i

¥

T

S

Sheet A, B3 aed C 2 arranged 1n a straight line. When the torch is switchad on, &
bright circuiag bt can be ssen on Sheet C only. Which of the ts:‘llowm"
statemnent! s} wn’ec,x,iy describels) the properties of the materials used fo make the

‘-‘-\re,_ ¢nra ESAN

Wil .

A) Shee: A sirows Lght to pass through.
B} Shest B aliows tight to pass through,
() Sheet C doss poet aliow lght to pass through.

(1 Eoandy
2} L. ODLY
{3 :

(Y Band Cooly

T Seven diseovered three new organisms. X, Y and 7. He 'nofed that Organist
X and £ depend o Orgenism Y for food. Organist Y does not depend on any
other orgarisin for food Organism X3 the only organism that can move on iis
Which of the following is the best way to elassifv the three organisms?

\ v .

1 ?\a:;f: ungus Animals
o imal Plants

{1 . Piants

(45 Axuimals Fuagus
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David, Karl and Richmond were asked o study thres different organisms, P, Q
and R. These are what they have found.

David : Organism Q is the only organisti that can make foud on 118 0w

Karl :Organism P has a head and a body Organism O has chlorophyii,
~something which 1 absent in Organism £ and R.

Richmond . Organism P is the only organism that can lock for its own shelier,

‘Which of the following shows the correct differentiation characteristios the thres
boys are making use ot?

Nuirition Form Mavemgnt
() Karl Richmond David
(2) David Kari Richmond
3 Richmond Dawnd Kar
{4) Karl David Richraond

Study the diagram below.

Which energy conversion below bast descnbes the hammer knooking the niail inta
the wooden plank? ‘

() kinetic (harnmen) - kinetic (nail) + heat energy + scund enwrgy
j‘Z) kinetic (natl)—> kinetic (hamumer) + heat eergy + sound ensrgy
3) kinetic (hamme:) -~ keelic (zail}—> heal energy—-> souad energy
{4 kinetic (najl)—*kinenc (bammer) > hoat energy—rsound cnergy

s

The presence of great amount of frictional force 15 wseful for

A) bowling

B) siiding down = shide

C) the sole of the school shoe

D) bicycle braxe gripping the wiheel
o A and B only

(2) C and D only

(3)7  Aand Conly

4)

B and D only
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4,

John carred ot an investigation using a bar magnet and some iron nsils. The
fotiowinz 1s what nz observed.

Rased er the shove nvestigation, which of the following statements is t+s best
enncinsion for the fnvestigation above?

Maggie condusted 21 experiment to find cut which fype oisurface the tov var is
travelling on ties the most frictional force. She set up the investigation shown
beiow.

Point of relesse

S Plank

Dixtance travelled

Which variabtes shovld vernain constant in order to make the investigation a fair

~ -
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Read the extract of the newspaper article below.

. According to eye-witnesses, the lorry dover was speeding. The torry hit the
back of the moving motorcycie. As a resuly, the matorcyele was thres

forward......

The

(1)
(2
(3
)

I3

sffect on the motorcycie showed that a fores can

stop a moving object

siow down a moving objuit
make a stationary object move
make a moving object speed up

Alj tried to measure 3 types efshapa with difl

with the fulerum always at the centei. Afie
as shown below.

If he wants to arrange the shapes according to
which of the following arrangements 1s correct?

{4)
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Marv usas 2 dataiog
aver a month, She al

to measure and record the temiperature of 3 similar ponds
sv makes record of the pombze of fishes Uving in the 3 ponds,
Using all the recorded information, she then draws a couclusion forher
investizaion. Her ain for the investigation is to {ind out if the

(1Y ype ofwater affects the number of fshes lmno in the pond

{2} temperamre o water affects the types of fizhes hiving in the pond
(3)  tvpss of fshes hving m different ponds will change over a snonth
(v temperature of water aftects the number of fishes living in the pond

G, ¥ and 7 are al) pryantsms hving in a community. Oreanism G feeds on
Oxgamsn; H enly and Organism H feeds on Orgamism T onty, W Organisn T is
nnoved fom the community, which organismi(s) will be affected?

0 Orgarsem Foonly
(32 Roth Drgantem G and B
{4y  None of the prgansm

s

Which graph welowr shows the relationship between the popuiation of the Hen and

b deor
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In order to survive m a forest fire, animals

A)  hide underground
" B) hide 1n tree hollow
C) fly away from the fire

(1Y  Aonly

)  Aand B oniy
(3) A and C only
(4 B and C oniy




PART 1 (40 marks)

Write your apswers for Quesnans 31 10 40 in this booklet,

31 The diagram below shews the characteristics of some plants.

Law
-
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—
NZ1

/ .
No )/ \ Yes

o y

] Produce peisogous fruit i

e 2

z
| Reproduces om spores
L
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\7 es No, N\ ;1 es
; B
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~

LS

o ey = i yrm———ny
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% 8 F} l Produce usaful matenals ‘ f A
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No / \ Yes
[
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Study the diagram given above carefully and weite down the etters (A, B, C, D or
BY that rogrecenss the plany shown in the tebie Heiow, 3w

i Plant Represented by letter !
1 » B H
3

i > |

Board’s nest rem ‘,
. ! . ‘
;

Cotton i

e # e ot - — —— .A\...._._._.._q;\
z Lantang




Classify the organisms given 1t the bux according to the headings shown in
the table. {3}

VS

33,

A {
shark dolphin penguin !
platypus kingfisher girafie |

- T . | . .
Birds | Fish | Mawmals |
A ¢ §
- e forn S P - _ }
i E
; f
. % d
' e ! |
1 i ) ‘
.‘ : ':. %
; i 5 — :

!

The table below shows the melting point and botling pomt of 4 different

substances, A, B, C and D. Study the table shown below carefully and unsweer the

following questions.

Lale

N
POTTL)

(a) Which substance(s) exist(s) as a gas at ronn: temperature 28 07
(bY  Which substance(s) exist{s)as a solid &* room temperatirs!28 °CY?
(¢ Which substance(s) exist(s)as a liguiyat room tempersture(28 °C)?
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Two emnty air-tight cont rmer have an egual capacity of 1000 em” sach. A
s0%d cube of volume 700 cm® was then placed inside contaner Q. 200.¢m” of air
was ficst pumped inte ¢ach of the two gas containers shown below.

7

!

!

._j__; e SONG cube of
valime 200 o’

sped tuto each container as recorded in the table below.

¢ Volume of air pumaped into the jar |

I
‘|
- . e ;
L 600 o MO ey
{ - - - :
{a) What ig thy final volume of aw i each container? [Tm}
{0 Contalner P has | .o ofai
)y Containey Qhas - omofan
{B) Give 2 roason o explain your answer in {)(i), o

The dlagiun below shows the exchange of gases bar ween living organisims,

{in the names of the to main gases m the toxes provided  [1m?

[———

1 . e —

— -
%‘57'}“.'_‘1
;] 1 al
) Animall
5
\ A
N 7
) - J
T N
) RS
(i T S
: ;
1 i
;
; i . N . - £ NS
(OY3y Areows § and 2 ropresent the process ot ) . CDvm]
30 Araws X oand 4 cepresent the process 6 ] . :‘{- W



36. Study the simple machincs shown below carefully. Fill in the jetters, *#7, *8” and
‘1" in the appropriate boxes provided to show the correct positions of the
Fulerum *F, Eftort °E’ end Load "L/, _ (2

1405000

™

i H

N ___whealburrow S—
ypaper e < /

(a) 1f the driver wheel “A” 1s turned 1n the duestion es shown in the diagram

above, draw arrows in the diagram to show the dirsction of rotation for

=
(1) Wheel B and fu) Lead. S’
(b) Gear C has (2 teeth, Gear D has 14 teeth and Gear £ has 74 tecth How
many turn{s) would Gear & make when Gear O ' REGY




38, The diagram below shows & single cell undergoing reproduction, After its 1™ cell
division, 2 daughter celis are produced.

/“\ . _A/y- ¢ )

R r ’ . o
e I\\-., |/ »'_w_“-,-—-’? ‘: }
)
) ®

Pee* . @
i n

(2) Baw many cets will be produced if a cell wndergoes 5 cell divisions? {im]

e e A S

ol

fa) State a difference helween this method of cell reproduction from sexual

reproduchon. ey

%]
Ny

Gopal wi "fl‘l {Frhite 3 enriawm 107 X5 study ragra’ Fls Wantsd (he robto i bé
bright enough without the need to switch on the light when the cortain is covering
window. ‘\f the same time, he did not want peogie outside o he able to 1nck
into hiz roo through fhe curtain. He tested out 4 r_x-;t,s of materials by shining a
torch at one side and abserving from the other side. The table below shows his

observation. .

! Mareria! i B C )

i Lighr : Not so biaght | No light Very drm,

: arch ; { Cannot sce the | Caanot see Can see the
i § ’

; |  torch ; the torch torch

{(a)  Whizh material should Gopal use? Give an explanation for your choice. {1]

) A fer somas time, Gf}ﬁa anged his mind. Ha pow wants the curtain 10
$Ee Oty c'xz‘--bnupgoc -ch {s to stop peor 2l from lo \k!no nta the room.

Whish maicriall )Lan he choose to reake the cuttain? Exniain your answer




Yo

40.  You are given the task t0 design a new toy tor babies to play with
four matenials namecly glass, piastic, rabber and cevanuc.

(@)

th. You are giver

From the given materials, chooss one material that vou would vse to make

the new tov? Give a reason fer your choice, (1]
i o st et e

From the given materials, choose one materal that vou would NOT

L uge 1o
mazke the new toy? Give a reason for vour answar. (1
41. The electric dnll below (s usad to dril]l holes 1n the wall.
(a) Fill in the blanks o show the sorrect ensrgy conve "
Electrical Energy—> 1) B = L R ot S
En@rg}'-" Ei‘zerg}.’:- En;-_\l-/c_i-\ll

120 done?

Which form of energy converied above wiare not required at ali to get b
|

e e T e




The pictare beiow shows two bays pushing a box in the direction 2¢ indicated.

e e

S N

fa)  Which boy tas o applv s greater &ffort i move the box in the divestion
shown? Give an explanation for your answer. 1

by Onthe dizgearn of Boy A, draw arrotvs to mdwakcim‘\' 2 othey forees are
zoting on the bax. i1

C Load (g _Length of Spnrx’ {em)
I |

3 v

H

i : 1%

!

prom e

3 i

. ) J.

R




44.  'The table below shows the relaiionship of threc oiganisms L. M and P in a

community.
Population of & Community
35 : - -
[ Organisto M
30
. \ v
o .25 :
2
£
T .- { OrganismL
o 15
w .
-5 10
a .
o 9 S
- | Organjsm P
G !
N ¢ \pol 2 I
\_/59. K1 Weak 2 7

b)

What is the relationshin between the peputation of Organism P and the
population of Organtsm L? / il

1f the population of Orfranism P suffers @ drastic drop, what is the mos:
likely outcome for the population of Organism M?
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helow,

Casing

A v‘uden

Jovn wanted Lo find out if the presence of light witl affect the growth of plant. He
zel up the experiment

e -
. N é
Weoden
&7 Casig
Sany
S(.“..i

Tudy told Tovi that fhe obhove experdment 18 not a falr cue. F*(plai"- whv Juc v “'11\1

that and state what Tovi vaust do to ynake the experinijent a fair on 3
46, Thetahle helow shows the pumﬂatmn of 4 different animals in » forest over a few
VCAIS L , ~
; , 1990-1607 1 1993-1595 99619864 929.-7001 | 2002-2004
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61. . (3) 1.2 21,
U2 4 12,2 22, 2
03. 1 13,1 23,4
-04. 3 14, 3 24, 3
05.  (4) 15. 3 25, (4)
08, 2 16. 3 28, 3
07. 2 7. @ 274
03. 2 18 4 28, 2
08. 4 18. 2 29. 4
10. 2 20, 2 a0, 2
31) E
D
A
32) Penguin Shark Dolphin
Ling fisher Giralte

33) a) Substance D
b) Substance C
c) Substances A and 3

34) a) i) 1000

ii) 800 - ~
b) Even if you pump in more aiv, the cubs s1ill occupi
space leaving space foxr 800 c¢s” &5f z2ir zrd canoot b
compressed.,
35) a) . ' i) carboa dioxide

ii) oxvygern.

b) 1) photosynthasgis

~—Y

|
=
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foin
=

~s
20
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by Sezv § wouid mwake 7 turns
celle will 5e produced,
split into twoe cellis In sexuval

ion, the nucleus of the cell makes & cop
n C

39) a) R. It ullows xowe light to pass through har it w1l
allirw peoplie to lock in from the ocutss

2

Lh
ot
e T
o

by B and . It iz completely opegue so it do

3
anvching o s=2o through.

40)

e the sperm must enter the egy in order to

{u
104
jor}
v
a3
-
ft
<
EH

daes nob bresk
410
42} a) Roy B, hae b use g greater elforh o avercons
frictisa zrzvity while pushing
‘\ A
b / - \«,-_\’ :\\.
Tan
T
o v';"“ 3 |
e TRV Ly A =
g" 3 ) "C! “ L Ci
s
atop
24 ew
B g
“44) @) As the aumper of orgenisnm P o dncreases, the aumber nof
organlsm L fenyiRases
;121 increase.
ing and type c¢f seil vused ave nokt the =2
;s of the same si=ze and bre szre fyne of
2.
48Y &y Tt decreases Lrom 1890 to 2901 anu increaszse from 2002
ro 20047,



